AW *5
2. 1, 2t
21 g 54be
235 3,5

21 B2
2 B

%[“;2’1\3,{1)“403}% Y ;\',‘ﬁs.i‘f

P ) s
’____.._-——/
-t 2 i o
T~y -~ .= |0} a FM{, = ade U[,
| B o6 )
S {'\'5 L&—_F

[+3

2 t S\”Ac“ o |\ 2 ) \ o ]
3 1 o 2| T — | o vV ° s
o 2 v o © 1 Y,



£
2'6 3 T((fll*“:"'i]) = ['llr ‘/ (J Is '}:’_t' fiaes

T T enxsd * Lyoyuyp)d) © RARRY
T([_*.))‘x,“‘\})'* T( L\\}‘\D‘J\J“’)}: [”)I‘)’] + [), ‘}\}’3 = [2,7.,‘2)2]
..:i’ Je.. g e,
2% ¥S
&l .

T [4,-67)= T(alued + -cle11)
= Te4nedd Teg-cLet )
- q T(r,odd = 6 (Lo, 1)

473,y -cb-2S]

i

E"L' -h\’}.\, Y/'\'L, -'L_,o} = [2"‘\)"5\'\}

|1



